#1 Precalculus - Hustle #1 Precalculus - Hustle

MA® National Convention 2015 MAG® National Convention 2015
Solve for x: | x[? —|x|-2=4 Solve for x: | x[" —|x|-2=4
Answer : Answer :
Round 1 2 3 4 5 Round 1 2 3 4 5
#1 Precalculus - Hustle #1 Precalculus - Hustle
MAG® National Convention 2015 MAG® National Convention 2015
Solve for x: | x|* —=|x|-2=4 Solve for x: |x|? —=|x|-2=4
Answer : Answer:

Round 1 2 3 4 5 Round 1 2 3 4 5



#2 Precalculus - Hustle
MA® National Convention 2015

In how many ways can Jack plant three oak trees
and six willow trees in a row if no two oak trees
can be next to each other? Assume trees of the
same type are indistinguishable.

Answer :

Round 1 2 3 4 5

#2 Precalculus - Hustle
MAG® National Convention 2015

#2 Precalculus - Hustle
MA@ National Convention 2015

In how many ways can Jack plant three oak trees
and six willow trees in a row if no two oak trees
can be next to each other? Assume trees of the
same type are indistinguishable.

Answer :

Round 1 2 3 4 5

#2 Precalculus - Hustle
MAG® National Convention 2015

In how many ways can Jack plant three oak trees
and six willow trees in a row if no two oak trees
can be next to each other? Assume trees of the
same type are indistinguishable.

Answer :

Round 1 2 3 4 5

In how many ways can Jack plant three oak trees
and six willow trees in a row if no two oak trees
can be next to each other? Assume trees of the
same type are indistinguishable.

Answer:

Round 1 2 3 4 5



#3 Precalculus - Hustle
MA® National Convention 2015

< 1

Evaluate:
VAIA® 2 4 4n+3

Answer :

Round 1 2 3 4 5

#3 Precalculus - Hustle
MAG® National Convention 2015

< 1

Evaluate: - nz +4An+3

Answer :

Round 1 2 3 4 5

#3 Precalculus - Hustle
MAG® National Convention 2015

< 1

Evaluate:
VAU =02 4 A+ 3

Answer :

Round 1 2 3 4 5

#3 Precalculus - Hustle
MAG® National Convention 2015

< 1

Evaluate: - nz +4An+3

Answer:

Round 1 2 3 4 5



#4 Precalculus - Hustle
MA® National Convention 2015

Find the sum of all x €[0,27) such that
cos(2x) =sin(x) .

Answer :

Round 1 2 3 4 5

#4 Precalculus - Hustle
MAG® National Convention 2015

Find the sum of all x €[0,27) such that
cos(2x) =sin(x) .

Answer :

Round 1 2 3 4 5

#4 Precalculus - Hustle
MAG® National Convention 2015

Find the sum of all x €[0,27) such that
cos(2x) =sin(x) .

Answer :

Round 1 2 3 4 5

#4 Precalculus - Hustle
MAG® National Convention 2015

Find the sum of all x €[0,27) such that
cos(2x) =sin(x) .

Answer:

Round 1 2 3 4 5



#5 Precalculus - Hustle
MA® National Convention 2015

T

Find a+b—(c+d).

Answer :

Round 1 2 3 4 5

#5 Precalculus - Hustle
MAG® National Convention 2015

#5 Precalculus - Hustle
MAG® National Convention 2015

I

Find a+b—(c+d).

Answer :

Round 1 2 3 4 5

T

Find a+b—(c+d).

Answer :

Round 1 2 3 4 5

#5 Precalculus - Hustle
MAG® National Convention 2015

R

Find a+b—(c+d).

Answer:

Round 1 2 3 4 5



#6 Precalculus - Hustle
MA® National Convention 2015

Find the positive difference between the
maximum and minimum y values among all

points on the graph of r® =4r(coséd) 3.

Answer :

Round 1 2 3 4 5

#6 Precalculus - Hustle
MAG® National Convention 2015

#6 Precalculus - Hustle
MAG® National Convention 2015

Find the positive difference between the
maximum and minimum y values among all

points on the graph of r® =4r(coséd) 3.

Answer :

Round 1 2 3 4 5

Find the positive difference between the
maximum and minimum y values among all

points on the graph of r? = 4r(cos@)—3.

Answer :

Round 1 2 3 4 5

#6 Precalculus - Hustle
MAG® National Convention 2015

Find the positive difference between the
maximum and minimum y values among all

points on the graph of r* =4r(cosd)—3.

Answer:

Round 1 2 3 4 5



#7 Precalculus - Hustle
MA® National Convention 2015

u=i-k
vV =2i+j+3k

Find 2(usVv)” +|ux v|2 .

Answer :

Round 1 2 3 4 5

#7 Precalculus - Hustle
MAG® National Convention 2015

u=i-k
vV =2i+j+3k

Find 2(usv)® +|ux v|2 .

Answer :

Round 1 2 3 4 5

#7 Precalculus - Hustle
MAG® National Convention 2015

u=i-k
vV =2i+]j+3k

Find 2(usv)” +|ux v|2 .

Answer :

Round 1 2 3 4 5

#7 Precalculus - Hustle
MAG® National Convention 2015

u=i-k
vV =2i+]j+3k

Find 2(usv)® +|ux v|2 .

Answer:

Round 1 2 3 4 5



#8 Precalculus - Hustle
MA® National Convention 2015

#8 Precalculus - Hustle
MAG® National Convention 2015
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aforementioned order. If the first person to roll a
5 or higher wins, what is the probability Jay
wins?
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